504202 %

gt L ®

X EEHAERL 1002 EEmEEERERE
RAraas)  MRAZRRIEAMRTECE
# B IRHZ

(485355 100 43)

1. Solve the given differential equation. (15%)
6x’y +12xy+ y* +(6x* +2y)y =0

2. Solve the given differential equation. (15%)
Y +2Y"+2y =2 —4x?

3. Solve the given integrodifferential equation. (12%)
Y +4y=4 jo'(sim)y(t—f)dr $(0)=1

4.  Find the inverse Laplace transform of the given function.  (8%)
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5. Please calculate the double integral over the region R that is bounded by the graph
of the given equation. (10%) ”(2x Fay+Ddd, y=x*, y=x
R

Jt_y

6. Please find a matrix P that diagonalizes A and the diagonal matrix D such that

D=PA"'P. (15%)
-4 -5
A=
8 10

2
7. Please solve the heat equation kg—tzt = (Z_u O0<x<t, t>0 subjecttothe given
X ¢

conditions. Assume a rod of length L. (10%)
u(0,t)=0, u(Lt)=0, u(x0)=x(L-x)

8.Pi(0, 0, 1), P»(0, 1, 2), P3(1, 2, 3), please calculate }:ﬁ; x PP, (15%)




